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1. Given the following TBox, where A, B, C, D, E, F, H are named classes, while r is a
named property:

T={CCDACEEC3 F,FCBHCRBFCH}

Check if the TBox entails AC 3r.B.

2. Classify the following TBox:
Pericardium C Tissue N dcontained-in.Heart
Pericarditis C Inflammation M Jhas-location.Pericardium
Inflammation C Disease Il Jacts-on.Tissue
Heartdisease = Disease 1 Jhas-location.Heart
Heartdisease T Jhas-state.NeedsTreatment
3. Given the following TBox, where A, B, C, D are named classes, while r is a named
property:

A C BMn3arC
Bnir.B E CND

¢ E Ged)rB

Fr.3r.BND C 3Ir.(ANB)

Check whether the following subsumption relations hold w.r.t. the TBox:

1. ACB
2. AC Jr.3r.A
3. BN3ir.ALC 3r.C



